20y +ulW) =1y
2(-D+u(3):=-8
(D) + o(wy= -

(D r (D=2

BN E=alwy = -9
5(-3D) + (--3) = -\

2. A2x3matrix is multiplied by a3x2 matrix. Find the dimensions of the product. } ' N

oo

E
| A 2x2 By 345 C. 6%6 LB, oS

- ol e

3 F'd'themtr’euation3—3 IR s 32
5 atrix s = .
ki xeq 2 12722 cislEiE i

3 4 -9 =-11
Zn =-15 '
NnN=-5 i




-8 1 6 4
5. Letd= dB= . Fi +3B.
. [ 4 - 5} an L 7 l] Find 4 + 3B

-2 +3(¥) = 10 \3
V4 (W) = V3 E

Gaa(-D= -1 =%
-S+3(\) = -9

6. Find: 4"57-24_2.
6 8 9 1

-20 2% ® -4 2% 32

L 320

\

24 32 '8 2

3 -1
7. Find the product of . o=
5 2 3

3(D+ s = )
3(-H+1(3) = © L
s(D+2(-9= © | O |\
5(-N ¥ 2(3) = |

e Are the two matrices (in #7) inverses of one another? Use mathematics to justify your
response.  Use words, symbols or both in your justification.

‘\CS oo %z\- ‘e 'Idu\-\\so.\
Mol Waen oo cnoV By Fhemn
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8. Find the values of x, y, and z that make the statement [

xl; 5 x;zy}z[ig 188} frue.
Ix-5 =2\0 Y = S
XAy = S \ = 2
qz = \9 2=

-3n=41
9. Solve the system of linear equations {7m "

matrix row operations.
m+5n=0
[ ]

Use mathematics to explain your response. Use words, symbols or both in your
explanation.

9 -3 R\ R Rz2- 2Ry ‘
—_—>

-18
a S

D

=13 |4\
O u\ [-82
Ra fy)

e PR o | s

' c |\
10. If A=[1 -2 —4] and B—[ 0 } find the product of AB.

(- + -2(o)+ ~4(10)

e - Bl

Academic Algebra 2

o | [-2 =

2008 Short Cycle 4




\

() - ()

-\ - ....\.\. -"]
a5 -1]

-2 7
11. Find 47!, if it exists, for 4 =[ : 4} . Show work.

-
. \

12. Write the matrix equation associated with the system of equations and solve using row

x+y 3
operations {—-x+3y+4z=
4y+3z 2

Academic Algebra 2

=-3

03R1+R\\\0
—|o 4 y

0'-\3;2

Ry - Rz

Ry -HR2
e}

LO O -l

o\

N <<

'3

L O W

04 3

s

Ra(-) |' © -

ey | S )}

OO\

L.
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